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ThéEphEer of daily network traffic restrictions.

Use TANet, you need to observe the "Ministry of Education and TANet" usage rules and restrictions.
In educational institutions in central Taiwan, we have the same rules. We count only downstream traffic daily limit 6GB.

Traffic statistics, the source is the record of your computer to use the Internet.
Records generated by your computer, through the campus router, on campus outside "access" network resources when
recorded. Personal Internet records, can go to the 1206 Media Center of the query (with dedicated computer).

Campus internal traffic: Not counted, such as campus authorized software services, student information systems and
learning system ... and so on.

> connection query the database through library literature abroad, because the database is in a foreign country, and
has been out of the campus network will go through the center of the academic network, it will calculate the flow rate.

Exceeding flow limitation :
In “Attack & over traffic listing”, reason is “over traffic”, you over daily Quota downstream 6GB.
Daily traffic statistics from AMO03: 00 beginning 24 hours.

“over usage traffic” After exceeding the daily limit, the excess amount will be deducted from the quota tomorrow.
Ex.

Today have 10000MB, tomorrow just have 6144MB — (10000MB — 6144MB) = 2288MB.
(10000MB - 6144MB) = 3856MB is over usage traffic of today.
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